Heterogeneity: 1° = 0.03, I* = 50.34%, H* = 2.01
Test of 8, = 6;: Q(10) = 25.29, p = 0.00
Testof 8=0:z=12.46, p =0.00

Effect size Weight

Study with 95% CI (%)
Midhet (2010) 2 4 : 0.70[0.35, 1.05] 11.04
Hemminki (2013) 2 6 | 0.75[0.61, 0.89] 20.00
Hemminki (2013) 1 6 : 0.98[0.51, 1.45] 7.58
Hemminki (2013) 2 4 : 0.93[0.74, 1.11] 17.97
Hemminki (2013)25 : 1.06 [0.85, 1.27] 16.88
Hemminki (2013) 1 | 1.10[0.70, 1.49] 9.47
Hemminki (2013) 1 5 : 1.21[0.81, 1.61] 9.33
Midhet (2010) 1 6 : 1.30[0.40, 2.20] 2.73
Midhet (2010) 1 4 | _ 1.80[0.95, 2.65] 3.02
Midhet (2010) 1 1 : 2.40[0.95, 3.85] 1.13
Midhet (2010) 2 1 : 2.90[1.20, 4.60] 0.83
Overall : 1.00[0.85, 1.16]

|

|

|

|

0

Random-effects REML model



